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He came before 7737 29, etc. — 9999 7TV 297 ORDY RNN

OVERVIEW

The case here is that the witnesses, who testified that X372 27 moved the fence into
his neighbor’s property, were contradictory; one 7¥ said he moved it over two rows
while the other said three rows. >"1 ruled (based on the ruling of X"2w") that 3173 27
must return two rows of land to his neighbor (since both witnesses agree that he
took away (at least) two rows. N190IN reconciles our X723 with a seemingly
contradicting X3,

— 759 NP2 NYIN 12 PIRY 2393 NNNS 257 PIOM)
And the X723 concludes that ' agrees with R''aw.

nooIn asks:
— DTN 29 YIN (00 nnnn 91321 XX VI N,9 97 P910) 9912 DT PI92T NN

And it is astounding! For >''1 states in 9912 777 P99 -
— DI 91 NIV 23‘\1‘,7"123 NN DT HYNINH MTY

A pair of witnesses regarding monetary issues, who contradict each other in

mp>72, their testimony is accepted -
— INY PPIIN N TAN) NIAY SPIINR 9DIN TANI ND PN

And the X3 established this ruling (of N7 °1°72 77W2 MNP 722 1"RT NWAONRT NITY)
in a case where one 7V said he lent him the money from a white wallet and one 7V
says it was a black wallet, then 7w> 1m7Y -

— 1999081 1PN 129 131 VI TAN) MNY 13 1IN THN YaN
However if one 7v said it was a black 3% which he lent the M and the other 7

said it was a white ;12», they do not combine to be an 77w> M7y since they contradict

each other; this is the view of 777> 29, however -
—9INY N3N N THN 12D NN IR THN 1TPAN Y9N SYT91)

The >»7771 maintain that even if one says 129 ;712 and one says = 737 it is a
valid m7v -

! X"2w" interprets a npYonn of 7"2) w"2 in the following manner. In a case where one witness testifies that the mb
owes the 7191 one 711 and the other 7V testifies that he owes 2> nn, the w"2 maintain that 3017v 77571 and there is no
testimony, while 17"2 (whom we follow) maintains that 7in 2°n&n %252 w° and the M owes the M%» a 7. Similarly
here; two XN*XIX is 7702 three XXX, so he must return two XNXIX.

> When 7" interrogates the witnesses they ask them two types of questions, called np>72) m=*pri. The M pr are the
names of the parties, the time and place the incident occurred. Any contradiction in Mpr nullifies their testimony.
mp 72 refers to (other) details, as will be explained in nOIN.
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— NI TYON 12 PYNY 395 9INT ININT 71019

And the X713 concludes that the °y7771 follow the ruling of X''2w here (that if one
says 11 and the other a»nxn it is a valid M7Y) -
—*NOPT TYIN 12 PYNRY 239X 11959 219NN YT NN 297 YPYUN

It seems that >"'1 who argues with the >y7971 (regarding 125 7n) [also] argues
with R'"' 2w mentioned here; however here the X7n3 states that > agrees with X"2w".

Mo0IN answers:
— P79 NN ATYON 12 PIYNY 2395 3 NN 297 990 U

And one can say; that >'' also agrees with R''2w9 (regarding 2»nXn 7m)°, and

the argument between *y77731 > (regarding 127 7in) is as follows -
- 1:15 131 9IXR TANI NINY NIN 99N TANT 920 S¥T9NT

For the >¥y797: maintain that the case of 129 737 92X TARY I 727 IR NN -
— 739K 3T TN 153 5P KYT 1IN 13 PWNY %397 1IN9nIY 311

Is similar to the case of R'"aw= (of o»nX» 7n) for the witnesses are not that

particular and (the case of 127 71n) is similar to the case of a black wallet (where

all agree that it is a proper N7y, since the 0>7¥ do not pay attention to these details) -
— PY1aY )Y NN NY NWYNN 90 DT PNT ‘onn4 YPIIND D95 T NDT 4320 NN’ AN

However, >''2 maintains that the case of 2% 7in is not similar at all to the case of
P18 (where all agree it is a valid m7Y) for by °p17X [since] the testimony is not
regarding the actual occurrence (the issue is the amount of money not the wallet),

therefore it was not incumbent upon the 2’7 to verify what was the color of the

wallet, so their contradiction is meaningless -
— 55954 1999 1PPYNY NID 79210 91T N YaN

However regarding the color of the % (whether it was white or black) since this
is the actual issue for which they are testifying (they claim that the m>» gave

money to the mM?), the witnesses are precise and make sure that they have all the details

correct. When we see a discrepancy we void their testimony —
— 99N 125 19X IMTY NHVAT MNY NIV INYIN 12 PYNRY 229 NNT 920

And °"1 maintains that X'"2w= will agree that regarding the case of =yw mmn
even 77''3 agree that their testimony is voided.

* The n"2n1 mx7 amends this to read, w" X 3 »95.
* Our Xm3 maintains that *" (of two or three rows) agrees with the ruling of X"2w" (regarding a»nX» 73n). The X723
there (seemingly) maintains that "1 727 71 is similar to the case of o»nXn nan and °v77m1 follow X"awa and
(seemingly) > does not. This is an inherent contradiction!
> The case of o»nXn mn literally parallels our case here of Xn»X non *n.
% The n"27 N3 amends this to read, X7 1% anAT.
" The n"27 mman amends this to read, *p>>7 RI37 9Y PPYAW 7377.
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mMdoIN responds to an anticipated difficulty:®
— 7590 1Y SPAYT DINND) NINY 3T N

And the case of 127 min is not similar to the case of a»nx» 7 where X"awA

maintains NP M7V, because there is a greater chance of error by o»nxn 7 than
by 122 m1n -
— 19U YW PN THN) 12 YW %30 DIN TARY 125 1313) INY 13N DNT1 KON

Rather the case of 32% 7y 2w M (according to °") is comparable to a case
where one 7V said it was a barrel of wine and the other 7V said it was a barrel of
oil, which was lent or given for a deposit -

1000 ONIINTY IMTY NPINIT NNRYY 9919 Y1 NNaT
In which case all agree that their testimony is divided and unacceptable, as
mentioned there in the X ).

SUMMARY

y7771 and "7 agree with X"2wA regarding o»nXn 7 that it is a valid m7v.
Regarding 12% nin the >¥7771 compare it to 2°°nX&» 71 (and °PIIX) so it is a valid
M7y, while >3 compares it to 72w 1 and 10TV IPOM.

THINKING IT OVER

Once nMBoIN concludes that by o»nXn» 7in they are more likely to err (than by 71
]:1’7);ll 1s it possible to distinguish between 2>nXn 7131 (where n»»p 1M7Y) and N
XN¥IX noM where perhaps they are less likely to be mistaken?

¥ moon just explained that a discrepancy between 122 min and Mnw man (even if the amount owed is the same)
invalidates the M7y (according to *"7). Seemingly then a discrepancy between 71 and o0»nR» (which makes a
difference in the amount owed) should surely disqualify their n17v, but nevertheless X"2w" maintains it is a valid
miy!
? The o7v notice more readily the type of money transferred that they notice the amount that was transferred. The
money can sometimes be transferred in a manner that the 0*7v cannot easily discern the amount, but they can easily
see the color. See ‘Thinking it over’.
10 x,x5.
' See footnote # 8.
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